Directions: Choose the correct answer for each of the following questions.  Do not write on this form but use a separate sheet for the answers and enter your final responses on the clickers.  Since this is a retake let me tell you about the history of the mulligan.  A mulligan, in a game, happens when a player gets a second chance to perform a certain move or action. The practice is also sometimes referred to as a "do-over."  According to the author Henry Beard, the term comes from Thomas Mulligan, a minor Anglo-Irish aristocrat and passionate golfer who was born on May 1, 1793 and lived near Lough Sclaff, on the Shannon estuary, in a modest manor house called Duffnaught Hall, which was totally destroyed in a mysterious fire one week after his death on April 1, 1879. Mulligan is said to have written, "Inasmuch as strokes taken after play is concluded on the 18th hole do not count towards the total entered on one's tally card, it seems to me eminently reasonable that any shots struck before play is properly commenced with a satisfactory drive on the first tee, should be of no more consequence to one's score than those swings which one has made by way of practice in the course of hitting balls upon the driving ground." In short, the player's first tallied stroke for a game is the first playable drive from the first tee, and any shots made beforehand are not scored.  The term has found a broader acceptance in both general speech and other games, meaning any minor blunder which is allowed to pass unnoticed or without consequence. In both senses, it is implied that a mulligan is forgiven because it was either made by a rank beginner, or it is unusual and not indicative of the level of play or conduct expected of the person who made the mulligan.  Good luck on your “mulligan”.
1. Two stores are equally spaced in linear distance from your residence. However, you choose to shop at the store that it takes less time to reach. Your decision reflects using a temporal measure of distance that also can be called _______. 

A) absolute 

B) relative 

C) large scale 

D) geographic
2. What is globalization?

A. The process of countries becoming increasingly more independent. 

B. A set of processes that are increasing interactions, deepening relationships, and heightening interdependence without regard to country borders. 

C. The process of every country becoming part of the global market. 

D. The process of each country becoming self-sufficient. 

3. Overcoming the friction of distance/distance of decay between two places exemplifies dealing with _________. 

 A) location 

B) distance 

C) connectivity 

D) accessibility
4. Geographers are most interested in analyzing:

A. spatial patterns. 

B. cultures. 

C. place names. 

D. geographic facts. 

5. A region is characterized by which of these attributes? 

A) location 

B) spatial extent 

C) boundaries 

D) hierarchical arrangement 

E) All of the above 

6. A perceptual region is rigorously structured and based upon highly objective data. 

True 

False
7. Which of the following is not one of the five themes of geography?

A. location 

B. place 

C. movement 

D. history 

8. The art and science of making maps is referred to as:

A. cartography. 

B. cartogramography. 

C. mapology. 

D. None of the above.

9. GPS stands for:

A. Geographic Positioning System. 

B. Global Positioning System. 

C. Global Point System. 

D. Geographic Positioning Schematic. 

10. GIS stands for:

A. Geographic Information Systems. 

B. Global Information Systems. 

C. Global Interaction System. 

D. Geographic Interactive Systems. 

11. What is s cultural hearth?

A. An area where more than 1000 different cultures exist together. 

B. An area where people gather to discuss and pass down their culture. 

C. An area where cultural traits die or cease to exist. 

D. An area where cultural traits develop and from which the cultural traits diffuse. 

12. The way the common cold spreads is an example of which type of diffusion?

A. Expansion 

B. Contagious 

C. Stimulus 

D. Relocation 

13. The spread of fashion is typically an example of which type of diffusion?

A. Expansion 

B. Contagious 

C. Hierarchical 

D. Stimulus 

14. Which of the following statements regarding possibilism is true?

A. The natural environment determines the choices available to a culture. 

B. The natural environment merely serves to limit the range of choices available to a culture. 

C. Climate is the critical factor in how human behave. 

D. Some climates are better for production than others. 

15. Latitude measures distance east and west of the prime meridian. 

A) True 

B) False  

16. Mathematical location is also known as __________________. 

 A) relative location 

B) physical location 

C) absolute location 

D) vernacular location 

17. Absolute and relative location are interchangeable terms.

A. True 

B. False 

18. Cultural landscape can be defined as

A. The types of art, music, dance, and theater practiced in a particular region.

B. The ways that people in differing cultures perceive their environment.

C. The forms superimposed on the physical environment by the activities of humans.

D. A particular area within a geographic region dedicated to cultural activities.

E. A diversity of distinctive cultures within a particular geographic area.

 19. The essential perspective used by geographers in forming their concepts is: 

  A) absolute. 

  B) human. 

  C) relative. 

  D) spatial. 

20. Arithmetic density: 

  A) cannot be used to compare regions. 

  B) is an absolute relationship such as population per square kilometer. 

  C) is more meaningful than physiological density. 

  D) refers to the number of persons per unit of arable land. 

21. Site refers to the: 

  A) external features of a place. 

  B) precise location of the center of a city. 

  C) proximity to natural resources or transportation routes. 

  D) internal locational attributes of a place. 

22. The statement that "the journey to work is 15 minutes by bus" is an example of: 

  A) absolute direction. 

  B) absolute distance. 

  C) relative direction. 

  D) relative distance. 

23.  Perceptual regions: 

  A) are more vigorously structured than formal or functional regions. 

  B) are not considered of any importance to geographers. 

  C) define areas only as far as the eye can see. 

  D) reflect feelings and images rather than objective data. 

24. In describing the patterns and processes of spatial interaction, geographers are most concerned with: 

  A) accessibility and connectivity. 

  B) density and dispersion. 

  C) diffusion and pattern. 

  D) pedestrian cities. 

25. Which of the following is not one of the dominating interests in geography? 

  A) variation of physical and human phenomena on the surface of the earth and their interrelationships 

  B) the development of overlapping perceptual regions 

  C) regional analysis 

  D) spatial systems linking areas of physical phenomena and human activities together 

26. Using any map projection, there will always be some distortion because: 

  A) a map has to depict the curved surface of the three-dimensional earth on a two-dimensional sheet of paper. 

  B) equivalent projections must be distinguished from conformal ones. 

  C) some spatial phenomena are not tangible or visible. 

  D) the map scale is changed. 

 27. The visible imprint of human activity is known as: 

  A) spatial interaction. 

  B) the attributes of the setting. 

  C) the cultural landscape. 

  D) the natural landscape. 

28. Which of the following statements is correct? 

  A) The larger the scale of the map, the larger the area it covers. 

  B) The larger the scale of the map, the more generalized are the data it portrays. 

  C) The smaller the scale of the map, the larger the area it covers. 

  D) The smaller the scale of the map, the more accurately can its content be displayed. 

29. Which of the following statements concerning longitude is not correct? 

  A) Longitude is depicted by north-south lines called meridians. 

  B) Longitude is the angular distance east or west of the prime meridian. 

  C) Meridians are parallel to the equator. 

  D) Meridians converge at the poles. 

30. The characteristics of places today are the result of: 

  A) current inhabitants. 

  B) constantly changing past and present conditions. 

  C) technology. 

  D) level of education. 

31. The "turfs" of the urban clubs or gangs is an example of which type of region? 

  A) formal 

  B) functional 

  C) nodal 

  D) perceptual 

 32. The distance between the North and South Poles is: 

  A) 0 degrees. 

  B) 90 degrees. 

  C) 180 degrees. 

  D) 360 degrees. 
33. Which of the following is not true with respect to "places"? 

  A) They cannot interact with other places. 

  B) They have location. 

  C) They may be large or small. 

  D) They have both physical and cultural characteristics.
34. How many satellites is/ are required to provide proper GPS data?
  A) 1 

  B) 2 

  C) 3 

  D) 4

35. Human geography is best defined as the study of

A) Where and why human activities are located as they are

B) Where and why natural forces occur as they do

C) Population and birth rates

D) Human civilizations and their changes

E) Governments and their impacts on the earth’s surface

36. On which of the following map projections is direction true everywhere on the map?

A)
Mollweide

B)
Mercator

C)
Peters

D)
Robinson

E)
Miller cylindrical
37. Which of the following statements most closely aligns with the theory of environmental determinism?

A)
The physical environment interacts with human groups in shaping the cultural landscape.

B)
Humans create a series of reactions to the physical environment in which they live and choose from a set of possibilities the best course of action to suit their circumstances.

C)
The physical environment directly causes human actions to take the forms they do.

D)
The physical environment may affect human choices, but human groups ultimately can shape the physical environment to fit their needs.

E)
Resources drive the creation of a set of tensions between the regions of world rich in food and those most needing it.
38. If it is 11am in your city and it is 12pm in Greenwich, England, what time is your city’s approximate longitude?

A. 15° west

B. 15° east

C. 45° west

D. 30° east

E. 30° west

39. Kentucky, Canada, the Ohio River Valley, a German-speaking region, and Northern Ireland are all classified as

A)
Functional regions

B)
Formal regions

C)
Perceptual regions

D)
Heterogeneous cultures

E)
Cognitive maps

40. The ratio between distance on the map and distance on the earth’s surface is called map _____________.

A)
Projection.

B)
Resolution.

C)
Scale.

D)
Isoline.

E)
Proruption.

